EXPLOSION-PROOF
SUBMERSIBLE

SUMP PUMP

ESSCO heavy duty submersible explosion-
proof sump pumps are of the 100% recessed
impeller design. Each unit is capable of han-
dling long stringy material, large size solids
and slurries within maximum solids handling
efficiency. The ESSCO pump incorporates
the vortex pumping action along with unique
pump design, allowing the greatest flexibility
in the submersible pump field.

VOLUTE: Each volute is engineered for
maximum life in "sump pump" duties.

ESSCO Pumps & Controls

4935 Telegraph Rd.

Los Angeles, Ca 90022

(323) 261-2181

Fax (323) 261-1523
www.esscopumps.com

Email sales@esscopumps.com

ESSCO utilizes a single piece volute design
with extra material in high wear areas.

IMPELLER: ESSCO pumps are available
with various impeller designs to allow for high
capacity low head or low capacity high head
applications. ESSCO utilizes investment cast
impellers for higher casting density and
thicker vanes and back shrouds which allow
for maximum life. By use of the JLI manufac-
turing techniques ESSCO offers trimmed im-
pellers in extremely hard and difficult to han-
dle alloys. By use of this production tech-
nique, impellers can be machined to act as a
shredder (for solids coming in contact with the
eye of the impeller) or machined to handle
solids more delicate in nature.

WEAR PLATE: The ESSCO MODEL 252
comes standard with a wear plate located be-
hind the impeller. The wear plate is designed
to protect the motor bracket and mechanical
seal from particle erosion. The wear plate can
also act as a barrier for a seal flushing fluid
when a simple wear plate is not sufficient pro-
tection against wear created by the pumped
media. Again ESSCO utilizes the JLI produc-
tion method for manufacturing this pump
component to ensure the best possible cast-
ing quality and material density.

COOL AGIVENT: Each ESSCO submersible
pump includes a Cool Agivent apparatus
which is for venting pump case and cooling
external surface of the motor. This patented

Distributed By:




EXPLOSION-PROOF

SUBMERSIBLE SUMP PUMP

device will allow a more shallow wet well de-
sign, as well as keeping the motor cool when
not submerged. AllESSCO submersible
pumps are capable of running dry continu-
ously. (consult factory for specific applica-
tions).

MOTOR: ESSCO offers U.L. listed explo-
sion- proof motors for Class 1, Division 1,
group D hazardous locations. The motor is
manufactured by Reliance Electric Co. and
includes moisture detection and thermal pro-
tection as standard features. Heavy duty
bearings and dual mechanical seals are
standard for both motor designs and on spe-
cial request high temperature and energy ef-
ficient designs are available. (Not all motor
options are available on U.L. listed motors.)

In addition to the above listed standard items
ESSCO offers the following options:

~ 316 S.S. motor shaft

~ Nitronic 50 acid resistant stainless steel

~ Tungsten carbide lower mechanical seal
with stainless steel metal components
and Buna-N elastomer

~ Silicon carbide lower mechanical seal
with stainless steel metal components
and Viton elastomers

~ Mechanical seal flush

~ 316 S.S. motor mounting bracket

~ 2-part epoxy coating

~ Steel motor jacket

~ 316 S.S. motor jacket

~ Motor jacket flush connection (for cooling in
hot liquid applications)

~ Viton motor "O" rings

~ Teflon coated Viton "O" rings

OPTIONAL LIQUID END MATERIALS:
~ NiHard 550 Brn
~ NiHard 650+ Brn
~ HCI 550 Brn

~ HCI 650+ Brn

~ CD4MCu

~ 316 S.S.

~ 304 S.S.

~ Hastalloy

~ Alloy 20

~ Navy Bronze

~ Other

ADDITIONAL OPTIONS:

~ Certified Performance Test’

~ Certified Hydrostatic Test’

~ Certified Motor Test

~ Explosion-proof Slide Rail Assembly
~ U.L. Listed Control Panels

"All tests are conducted as per Hydraulic Institute
Standards.

ESSCO maintains a large stock of complete
pump units and spare parts for quick shipment.
For special alloy parts ESSCO has a quick ship-
ment program to ensure customer a minimum of
down time.

ESSCO Pumps & Controls

4935 Telegraph Rd.
Los Angeles, Ca 90022

(323) 261-2181
Fax (323)261-1523

Website: www.esscopumps.com
Email: sales@esscopumps.com

Member of the Hydraulic Institute

Form: Tufsub Brochure




L6/1 1 8¥ed sAInND

ovl

00l 08

| ebed

NdO sn

09

ov

0¢

sauep 0

S9ueA L -,.9.€9

Q%-wa/mw?_Do_x/wwm p\:p

ol

©
Jo94 Ul HAl

0¢

0€

Hal 0 INdD 0 julod uolpuo’)
HalL 0 INdD 0 Julod uolpuo’)
HalL 0 INdD 0 Julod uolpuo’)
G/¢g 9| eiq J9j12dw]
auep / xayoA|:adA] ssjjadwy
a|qistsawgng|:adA]
uZ|:921g aJayds 0S.L|:NdY
0501]:"ON J9j19dwi] zsz):1spon dwing

Jaujulyuea@sdwndoossa :jlew-a

XVd €251-19¢2-€1le
18LZ-19¢-€Le
22006 8D “V1

pY ydeibaja) GE6¥
sdwing



MODEL HP|VOLTAGE | PHASE LIQUID END MATERIAL
JOB #: 250—5-—4—A |.5 |115 7 CAST IRON
250—5-4-B [|.5 [230 7 316 S.S.
2520—5-4-C [|.5 [230 3 NI—HARD
250—5-4-D |.5 |460 3 HIGH CHROMIUM IRON
meﬁwwwﬂm Ww wmw “ MECHANICAL SEAL FACES
] —.75—-4-B|. CARBON /CERAMIC
252—.75—4—C|.75|230 3 SILICON CARBIDE
mwwﬁﬂmﬂé .Nm me w TUNGSTEN CARBIDE
B MECHANICAL SEAL ELASTOMERS
— BUNA—N
VITON
OTHER
12.75
5.6250 _ MECHANICAL SEAL METAL PARTS
! 18—8 S.S.
304 S.S.
23,88 316 S.S.
OTHER
\._f
4.00
——
2—.4375 SLOTS
2.00 NPT
N il ALL DIMENSIONS ARE INCHES

6.1

DATE:
3/4/91

FILE NAME:
252SUBZA

DRAWN BY:

08B

BRAD J. MANN

CHECKED BYj
Jol.

REVISED BY:

REV. DATE:

ESSCO MODEL 252




PARTS LIST MATERIALS OF CONSTRUCTION
BOLT SIZE/FILE NAME

NO. | QTY.|SHIPPED DESCRIPTION CAST IRON HARD IRON

1 1 VOLUTE CAST IRON 252SUBAA

21 11 WEAR PLATE CAST IRON 252AA

26 |1 IMPELLER CAST IRON 1050AA

27 | 1 IMPELLER WASHER 304 S.S. W140TY

28 | 1 IMPELLER BOLT 304 S.S. 3/8x1

29 |1 IMPELLER KEY 316 S.S. 3/16x1—-1/4
31 | 4 VOLUTE BOLT 304 S.S. 3/8x2
31.2] 4 VOLUTE WASHER 304 S.S. 3/8" WASHER
43 | 1 U.L. SUBMERSIBLE MOTOR CAST IRON MTR180TY
431 1 MOTOR PLATE CAST IRON 180TYAH

45 | 2 COOLING AGIVENT BRASS 1/4 NPT

48 | 4 MOTOR BOLT 304 S.S. 3/8x1-1/2
52 |1 2” DISCHARGE FLANGE CAST IRON 252FAA

53 | 1 DISCHARGE FLANGE GASKET NEOPRENE DESCRIPTION
54 | 2 DISCHARGE FLANGE BOLT 304 S.S. 3/8x2
54.1| 2 DISCHARGE FLANGE WASHER 304 S.S. 3/8” WASHER
54.2 | 2 DISCHARGE FLANGE NUT 316 S.S. 3/8" NUT
316 | 1 NAME PLATE 304 S.S. 2"x4”
317 | 4 NAME PLATE RIVETS 80-8 S.S. 418RSUS
318 | 8 WIRE TIES NYLON 8”
410 | 1 THREAD LOCKING COMPOUND ADHESIVE HENKEL #1550

BOM# 252vV002
JOB#
\318

(WIRE TIES TO BE PLACED
EVERY 18" AROUND POWER
AND CONTROL CORDS)

410

CO DO

ASSEMBLY LOCATION LAC DPF El

NOTES: (1) ALL CAST STAINLESS STEEL PARTS

ARE CF8M UNLESS OTHERWISE NOTED.
(2) STACK DRAWING IS: 252SUBAA

ALL DIMENSIONS ARE

316 317
. It
[
SN = S |
5 £ 8 2
o é T =
O ]
AE = =
LIJLu (@) [
)
(@)
x
(@)
'_
2 2
_ O O
L & o
o O a
® = O e
INCHES

DATE:
10/28,/99
FILE NAME:
A—252AA
DRAWN BY:
BRIAN B.

™

CHECKED BY
J. .

REV. DATE:

252 PUMP WITH 180TY

MOTOR AND 140TY SHAFT,

CAST IRON WEAR PLATE

AND 140TY MOUNT MOTOR




